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PERCENTAGE ASSIGNMENT  
 

1. There are 250 students in a school. 55 students like basketball, 75 
students like football, 63 students like throw ball, while the remaining 
like cricket. What percent of students like  
250 khzth;fs; cs;s xU gs;spapy;> 55 khzth;fs; $ilg;ge;ijAk;> 75 
khzth;fs; fhy;ge;ijAk;> 63 khzth;fs; vwpge;ijAk; kPjk; cs;sth;fs; 
fphpf;nfl;ilAk; tpUk;Gfpd;wdh; vdpy;>  
i. basket ball? 
$ilg;ge;ij tpUk;Gk; khzth;fspd; vz;zpf;if?  
 
ii. throw ball? 
vwpge;ij tpUk;Gk; khzth;fspd; vz;zpf;if?  
 

2. In a class of 50, 23 were girls and the rest were boys. What is the 
percentage of girls and the percentage of boys?  
50 Ngh; nfhz;l xU tFg;gpy;> 23 Ngh; khztpfs;> kw;wth;fs; khzth;fs; 
vdpy;> khzt> khztpfspd; rjtPjq;fisf; fhz;f.  
 

3. In 2010, the population of a town is 1,50,000. If it is increased by 15% in 
the next year, find the population in 2011.  
2010 ,y; xU efuj;jpd; kf;fs; njhif 1,50,000 mLj;j Mz;by;> mJ 
15% mjpfhpf;Fkhdhy;> 2011-,y; kf;fs; njhifia fhz;f.  
 

4. A Vegetable vendor bought 50 kg of onions for Rs. 450. He sold 36 kg at 
Rs. 11 per kg. The rest were sold at Rs. 4.50 per kg as they were not very 
good. Find his profit / loss percent.  
xU fha;fwp tpahghhp 50 fpNyh ntq;fhaj;ij & 450 f;F thq;Ffpwhh;. 
mth; xU fpNyh 11 vd;w tpiyf;F 36 fpNyhit tpw;fpwhh;. 
kPjKs;stw;iw xU fpNyh & 4.50 vd;w tpiyf;F tpw;whh;. mtUf;F 
fpilj;j ,yhgk; / e~;l rjtPjk; fhz;f.  
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5. The Marked price of a toy is Rs. 1,200. The shop keeper gave a discount 
of 15%. what is the selling price of the toy?  
xU nghk;ikapd; Fwpj;jtpiy & 1200 filf;fhuh; 15% js;Sgb 
tpiyapy; nfhLj;jhh; vdpy;> nghk;ikapd; tpw;gid tpiy vd;d?  
 

6. A Man spends 40% of his income for his food, 15% for his clothes and 
20% for house rent and saves the rest. How much percent does he save? 
If his income is Rs. 34,400 find the amount of his savings.  
xUth; jk; tUkhdj;jpy; 40% czTf;fhfTk;> 15% cilf;fhfTk; 20% 
tPl;L thliff;fhfTk; nrytpLfpd;whh;. kPjpia Nrkpf;fpd;wdh;. mth; 
tUkhdk; & 34,400 vdpy;> mth; vt;tsT Nrkpf;fpd;whh;?  
 

7. Raju bought a motorcycle for Rs. 36,000 and then bought some extra 
fittings to make it perfect and good looking. He sold the bike at a profit 
of 10% and he got selling price of Rs. 44,000. How much did he spend for 
the extra fittings mode for the motorcycle?  
,uhR & 36,000 f;F xU Nkhl;lhh; irf;fpis thq;fp> mjd; Njhw;wg; 
nghypT ed;F mikaTk; NkYk; ed;Kiwapy; ,aq;fTk; rpy ,ju 
ghfq;fisg; nghUj;jpdhh;. gpd;G mk;Nkhl;lhh; irf;fpis & 44,000 f;F 
10% ,yhgj;jpy; tpw;fpd;whh; vdpy; ,ju ghfq;fs; thq;f vt;tsT nryT 
nra;jhh;?  
 

8. A dealer allows a discount of 10% and still gains 10% what is the cost 
price of the book which is marked at Rs. 440?  
xU Gj;jfj;jpd; tpiyapy; 10% js;Sgb nra;jhYk; xU tpahghhpf;F 
10% ,yhgk; fpilf;fpwJ. mg;Gj;jfj;jpd; Fwpj;jtpiy & 220 vdpy;> 
mjd; mlf;f tpiyia fhz;f?  
 

9. A shopkeeper gives two successive discounts of an article whose marked 
price is Rs. 180 and selling price is 108. Find the first discount percentage 
if the second discount is 25%. 
& 180 I Fwpj;j tpiyahfTk;> & 108 I tpw;gid tpiyahfTk; 
nfhz;l xU nghUSf;F filf;fhuh; ,uz;Lj; njhlh; js;Sgbfis 
mspf;fpwhh;. ,uz;lhtJ js;Sgb 25% vdpy;> Kjy; js;Sgbr; 
rjtPjj;ijf; fhz;f.  
 

10. If the first number is 20% less than the second number and the second 
number is 25% more than 100, then find the first number.  
Kjy; vz;zhdJ ,uz;lhtJ vz;iz tpl 20% FiwT. ,uz;lhk; 
vz;zhdJ 100 I tpl 25% mjpfk; vdpy;> Kjy; vz;izf; fhz;f.  
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11.  Nanda's Marks in 3 Math tests T1, T2 and T3 were 38 out of 40, 27 out of 
30 and 48 out of 50. In which test did he do well? Find his overall 
percentage in all the 3 tests.  
3 fzpj Njh;Tfspy; (T1, T2, T3) ee;jh ngw;w kjpg;ngz;fs; 40 f;F 38> 
30f;F 27 kw;Wk; 50 f;F 48 MFk;. ve;j Njh;it mth; ed;whf vOjpdhh;. 
3 Njh;TfspYk; mth; ngw;w nkhj;j kjpg;ngz;fspd; rjtPjj;ijf; fhz;f.  
 

12. The corona in  a culture grows by 5% in the first hour, decreases by 8% 
in the second hour and again increases by 10% in the third hour. Find the 
count of the corona at the end of 3 hours, if its initial count was 10000.  
nfhNuhdh itu]; MdJ Kjy; xU kzp Neuj;jpy; 5% tsh;r;rpAk; 
,uz;lhk; xU kzpNeuj;jpy; 8% tsh;r;rpf; Fd;wpAk;> %d;whtJ kzp 
Neuj;jpy; 10% tsh;r;rpAk; milfpwJ. Kjypy; mjd; vz;zpf;if 10000 
Mf ,Ue;jJ. vdpy; %d;W kzp Neuj;jpw;Fg; gpwF mjd; 
vz;zpf;ifiaf; fhz;f.  
 

13.  A Shopkeeper buys goods at 
4

5
 of its marked price and sells them at 

7

5
 

of the marked price Find his profit percentage.  

xU filf;fhuh; nghUs;fis mjd; Fwpj;j tpiyapy; 
4

5
 gq;fpw;F thq;fp> 

Fwpj;j tpiyapy; 
7

5
 gq;fpw;F tpw;why; mthpd; ,yhg rjtPjk; vt;tsT?  

 
14. A Man sold two gas stoves for Rs. 8400 each. He sold one at a gain of 

20% and the other at a loss of 20%. Find his gain or loss% in the whole 
transaction?  
xU egh; ,uz;L vhpthA mLg;Gfis jyh & 8400 f;F tpw;whh;. xd;iw 
mth; 20% ,yhgj;jpYk; kw;nwhd;iw 20% el;lj;jpYk; tpw;whh; vdpy;> 
mtUf;F Vw;gl;l ,yhg my;yJ el;l rjtPjj;ijf; fhz;f.  
 

15. The income of a person is increased by 10% and then decreased by 10%. 
Find the change in his income.  
xU eghpd; tUkhdk; 10% mjpfhpf;fg;gl;L gpwF 10% Fiwf;fg;gLfpwJ. 
vdpy;> mtUila tUkhdj;jpy; Vw;gLk; khw;wj;ij fhz;f?  
 

16. In a public school, 
1

5
th of girls and 

1

4
th of boys are under 12 years of age. 

If the number of girls is 
2

5
th of the total, what part of the total strength of 

the school is accounted for by those who are 12 years or more of age?  
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xU gs;spapy; 
1

5
 klq;F  khztpfSk;> 

1

4
 klq;F  khzth;fSk; 12 

taJf;Fl;gl;lth;fs; Mth;. nkhj;j khzt khztpfspy; 
2

5
 klq;F  

khztpfs; Mth; vdpy; 12 taJ my;yJ mjw;F Nkw;gl;lth;fspd; gq;F 
nkhj;jk; cs;sth;fspy; vt;tsT? 
  

17. A reduction of 21% in the Price of wheat enables a person to buy 10.5 kg 
more for Rs.100. What is the reduced price per kg?  
NfhJikapd; tpiy 21% Fiwe;jjhy; & 100f;F 10.5 fpNyh mjpfkhf 
thq;f KbfpwJ vdpy;> tpiy Fiwe;jgpd; jw;nghOJ xU fpNyh 
vt;tsT?  
 

18. Find the single discount equivalent to a series discount of 10%, 20% and 
30%.  
njhlh; js;Sgbfs; KiwNa 10%, 20% kw;Wk; 30% vdpy; mjd; xw;iw 
js;Sgb rjtPjk; vt;tsT?  
 

19. The marked price of a shirt and trousers, are in the ratio 1 : 2. The 
shopkeeper gives 40% discount on the shirt. If the total discount on the 
set of the shirt and trousers is 30% then the discount offered on the 
trousers is. 
xU rl;il kw;Wk; fhy;rl;ilapd; Fwpj;j tpiyapd; tpfpjk; 1 : 2 
filf;fhuh; rl;ilf;F 40% js;Sgb mspf;fpwhh;. ,jdhy;> rl;ilf;Fk; 
fhy;rl;ilf;Fk; Nrh;j;J nkhj;j js;Sgbahf 30% fpilf;fpwJ vdpy; 
fhy;rl;ilf;F mspj;j js;Sgb vt;tsT?  
 

20. Murugan bought two articles A and B at a total cost of Rs. 8000. He sold 
article A at 20% profit and article B at 12% loss. In the whole he made no 
gain and no loss. At what price should Murugan have sold article B to 
make an overall profit of 25%.  
KUfd; vd;gth; ,U nghUl;fis &gha; 8000f;F thq;Ffpwhh;. xU 
nghUis 20% ,yhgj;jpYk; kw;nwhU nghUis 12% e~;lj;jpYk; 
tpw;fpwhh;. ,jdhy; nkhj;jj;jpy; mtUf;F ve;jtpj ,yhgNkh kw;Wk; 
e~;lNkh Vw;gltpy;iy vdpy; KUfDf;F nkhj;jkhf 25% ,yhgk; 
fpilf;f Ntz;Lnkdpy; B vd;w nghUis vt;tsT tpiyf;F tpw;f 
Ntz;Lk;?  
 
 


